If X and Y are independent Poisson
variates with means 4, and 4, respectively,

find the probability that
@ X+Y=K and
i X=Y.

20. (=) Geraumd smALdpE Gue cuEETEIETENLILI
Qums :

@iy : 60-65 65-70 70-75 80-85 85-90 90-95 95-100

s@a@aa: 3 21 150 335 326 26 4

Obtain the equation of the normal curve that
may be fitted to the following data :
Class : 60-65 65-70 70-75 80-85 85-90 90-95 95-100

Frequency : 3 21 150 335 326 26 4

Or
(@) @m Quduraded, 7% e puiyser 35 ECpud
89% epluser 63s@s &Gpud edEe
Lpeucdan synaf wppid HLellessd SRS
In a normal distribution 7% (;f the items are
under 35 and 89% are under 63. What are

the mean and standard deviation of the
distribution?

e —————————
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PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer.

1. Quieeddn Qaup fy = ..

(1)

@)

LR AR

(=)

(F)

R RE



Pearson’s coefficient g, = ....

3 2
@ £ ® £
M Hy
3 3
© = @ £
H; My
orgy #fl?
(@) M =My + M (@) Mo =py— 1
(@) Mo = Mo+ M () My = Hly + M

Which is correct?
() M =y + M ®) My=Ha-M
©  Ho=HytH (A =+

r=0 eraflé Grem( .o ABMLILS CanHs@end
(o) Gavam

() Comcss

(@) @i iulL Ganemnd 80°

() agdldmae.

If r = 0, then the two regression lines are

(a) parallel

(b) perpendicular

(¢) angle between than is 60°

(d) none of these.
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.U‘

ergl 37

(=) by >1,b, >1 (<) by <l b,, <1
(@) byby <1 () by by >1
Which is correct?

(8 by >Lb,>1 ®b) b, <lb,<1

(¢) b,b, <1 @ b,b,>1

ye Xy

n LIGRTL|S(EThE&TET @Y Siamabeusamaafien
creRTeRilEEn S

(o) n* (=) 2n

@) 2" () n+2.

The number of class frequencies for n attributes
is

(@ n’ ®) 2n
© 2 @ n+2.
N =100, (A)=50, (B)=60, (C)=50 erafi®
(AB)= '
(=) 50 (=) 5
@) 45 (%) 55.
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I N=100, (4)=50, (B)=60, (C)=50 then
(4B)=

(a) 50 ®) 5

¢ 45 (d) 55.
S FHIHLIY Lreusien sxmafl

(=) np () npq
@) +np () +npq.
The mean of a binomial distribution is
(@) np ®b) npq
© np @ npg.

umienmen Ligeusiied gymef
(@) =HlLelewssd
(=) <HlLefassid

(@) =etessaiss syrsf

() =1.

In a Poisson distribution mean

(@ =8D () <8SD
(¢) =variance d =1
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10.

11.

smor uyeueder HmLiLS HpsemaT 2 HaUTSGLD sy

(o) (+t) (w) @-2)
@ @-4* (m  @+a)*
The m.g.f of Gamma distribution is

@ (+2) ® @-4)
© @-4* @ @+
AL QuiPoal Lyad

(=) N(00) (@) N(@1)

@ N1 (m) N(1,0).
The standard normal distribution is

@ N(0) ® N(L)

(¢ N(}1) (d N(L0).

PART B — (5 % 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

(<=1) @ CpiCanp Qurmsss :
% 12 3 4.5 6.7
y: 15 1.8 20 23 24 26 3.0
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Fit a straight line for the below data :
CHALRS RS IR N SR IR - Lale

y: 15 18 20 23 24 26 3.0

Or
() Gemaumd LTuEE Quarelluflen GamL&0sp
SRS
x: 20-30 30-40 40-50 50-60 60-70
T 3 5 20 10 5

For the following table find the Bowly’s
measure of skewness :

x: 20-30 30-40 40-50 50-60 60-70
fe 3 5 20 10 5

12. (@) Pm9: oL, =0} +0, -2ro,0,.

Prove : ¢

AL 2
—y =0, +0, -2r0.0,.

Or
6=D?

l=l-m.

() 87 o@lbpays Qs
D =x-y crang sn’_(Hs.

Show that the rank correlation coefficient
6xD?

1=1- &y ey
e e
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13.

14.

(@) Qgmiiys Gsup wHmd Goarin Gspssmer
uTWDISS, SeupdpdHenr Cuiwimen
Qgrmenens smeis.

Define the coefficient of association and the
coefficient of colligation. And find the
relation between them.

Or
(<) (AB)=150, (AB) =230, (aB)=260,
(af)=2340 aens Qen@ésuuiimd N -er
WL LHHLD OHD SNHOCEUBTEMETE SIS
Given that (AB)=150, (Af)=230,
(aB)=260, (af)=2340, find the other
frequencies and the value of N .

(@) n=6, 9P(X =4)=P(X =2) aafldr, mmmiiy
wrdl X &g P gpé snans.
Find P for a binomial variate X, if n=6
and 9P(X =4)=P(X =2).
Or

(ap) smpm umbevren wrhlaafler smiLd uaTamar
apd Hlepd.

State and prove the additive property of
independent Poisson variates.
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15. (@) Quafleel urud wppw Qué Hspsse
auaemepullenn WPEHLI LIGRTLISMET Safis.

State the chief characteristics of the normal
distribution and normal probability curve.

Or

(=) sgrefl 8, Al lewssd 4 ecoLw @@
QueuramawemLw X &@s

@i PB<X<10)
i) Plos<X<15)
(i) P(X 25) gfluapeops srers.

Let X be normally distributed with mean 8,
s.d 4. Find

() P(B<X<10)
() P10<X<15)
(i) P(X25).

PART C — (5 x 8 = 40 marks)

&

Answer ALL questions choosing either (a) or (b).

16. (=) y=ax’ agb el QUInSss :
x: 0 -3 9. 8.4 5.8
y: 4 5 7 10 13 17 23
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Fit a curve of the form y=ax® to the below
data.
£ 01 2 3 4 5 6

y: 4 5 7 10 13 17 23

Or

(=) Spssrgpid AurbsEss @@ UFuemeTLD
QuTpissis.
L [ R SRR (B

y: 21 23 24 25 27 30

Fit a parabola of the below data :
xE ) Vgt 28 a3 s s b

y: 21 23 24 25 27 30

17. (@) Yeveumn  gsaugiéE — sme  Qwiever
PLPpaystaw srams.
x: 203 208 204 205 210 208
y: 142 153 150 148 150 150

Find the Karl Pearson’s coefficient of
correlation for the below data :

x: 203 208 204 205 210 208
y: 142 153 150 148 150 150

Or
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18,

X

y:

() Gemaumid 55@.;@1&;@ oL e Qariiys Canpadr
STeHTS.

25 28 30 32 35 36 38 39 42 45
20 25 29 30 25 18 26 35 35 36

Find the lines of regression for the below
data :

x: 25 28 30 32 35 36 38 39 42 45

y:

20 25 29 30 25 18 26 35 35 36

(=) @m Csiweas 800 @munambd epdanriser.
15% <idswb.
Csiay@Quppaiiser Gsiay Guprseursemer el

Quemsener  efl. Sy eRrseT

480 sfsb. @b QuaTgpid Fwsiersiie
Caitay Qupeiicvena. 2 X 2 SiLL cuenamtenit Suimt
Qas hHpid AFTLTLE AEpMes STTS.

800 candidates of both sexes appeared at an
examination. The boys out numbered the
girls by 15% of the total. The number of
candidates who passed exceed the number
failed by 480. Equal number of boys and girls
failed in the examination. Prepare a 2 x 2
table and find the coefficient of association.

Or
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19.

(1) Heérar Sbenid aurmiod HES sHULS Cun(sd
SHUL pepLTs mss Py e Wenamib

efeugrusaflelimbg SiHlw apruom?

1482 Guir femembenio augallmé@n Gung 368
Cumps@ urduy gpuL (Hereng).

1482 Gufle 343 Cumés  shHuysd
GumtiutL Hé 35 Gu wCHCwW
urdlasuL [Hererent.

Can vaccination be regarded as a preventive
measure for small-pox from the data given
below?

Of 1482 persons in a locality exposed to
small pox, 368 in all were attacked.

Of 1482, 343 had been vaccinated and of
those only 35 were attacked.

(@) mEepuuyl  ugeusler  pge
UL penseanend &nams.

BTGNS GOLDWIS

Find the first four central moments of

binomial distribution.

Or

(<) X. Y gdue poptu 4, 4, smefsarrss
Glamemr. Lmbenmes wrdlaer erefled

i X+Y=K Gogyb
(i) X =Y gducpiler Bapssa sirams.
Code No.: 1119
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